1 &S #R7TRN <p.29 Fik~p.37 BRik>

ROHEE LB, [BFEOFE)
1) (+2)x(+3) (2) (+12)x(+6)

(4) (=11)x(=5) 5 (=8)x(=3)

ROHEELRE, (BFSOEE]
(1) (F5)X(=7) (2) (+13)x(-3)

4) (—4)x(+12) B F1)x(=8)

ROFEELRE, (BRFSORE]
(1) (+8)=(+2) (2)  (+36)+(+4)

4) (=20+(-9) 5 (=70)=(-5)

ROFEZEURE, [RFSOBRE]
(1) (=9)+(+3) (2) (+16)+(—4)

(4) (+28)+(-1) (5) (+84)+(—14)

3 (=6)x(=5)

B) (+8)x(+10)

(@) (—6)x(+2)

B (=9x(+7)

3) (=10)+(-5)

6 (+12)=(+4)

(@) (=63)=+(+7)

@ (+28)=(—1)



1 &S #RTRN <p.29 Fik~p.37 BRik>

ROFEELEE, (BRFSOFEE)

(1) (+2)x(+3) (2) (+12)x(+6) 3 (—=6)x(—5)
= +(2x3) = 1+ (12%x6) = +(6x5)
=+6 =+ 72 = 430

4) (=11)x(-=5) 5 (=8)x(-3) @ (+8)x(+10)
=+ (11 %x5) = +(8x3) = +(8x10)
= +55 — 1924 = +80

ROFEE LB, [RFSOER]

(1) (+5)x(=1) (2) (+13)x(-=3) @) (—6)x(+2)
= —(5%7) = —(13x3) = —(6x2)
— —135 = — 139 = —12

4) (—4)x(+12) 5 (F1)x(=8) @ (=9x(+7)
= —(4%12) = —(7x38) = —(9x7)
= — 48 = =96 = — 63

ROFEEUES, [DFSORE]

(1) (+8)+(+2) (2)  (+36)=(+4) R (=10)=(-5)
=+(8+2) = +(36+4) = +(10+5)
=+4 =49 = +2

4) (=27)=(-9) B (=70)+(—5) @ (+12)+=(+4)
=+(27+9) =+(70+5) — (1224

ROFEZEURE, [RFSORE]

(1) (=9)+(+3) (2) (+16)+(—4) @) (—=63)+(+7)
= —(9+3) = —(16+4) = —(63+7)
= -3 = —1 =9

(4) (+28)=(—=1) (5) (+84)+(—4) @ (+28)=(—1)

— (28 +7) 84+ 4) —(28=7)

4 — 91 —



